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General Instructions :

(i)

(ii)

(iii)

(iv)

(v)
(vi)

(vii)

There are total 26 questions in five sections in the question paper. All questions
are compulsory.

Section A contains questions number 1 to 5, Very Short Answer type questions of
one mark each.

Section B contains questions number 6 to 10, Short Answer type-I questions of two
marks each.

Section C contains questions number 11 to 22, Short Answer type-Il questions of
three marks each.

Section D contains question number 23, Value Based Question of four marks.

Section E contains questions number 24 to 26, Long Answer type questions of five
marks each.
There is no overall choice in the question paper, however, an internal choice is

provided in one question of two marks, one question of three marks and all three
questions of five marks. An examinee is to attempt any one question out of the two
given in the question paper with the same question number.

Qqug — &

SECTION - A

1. BOR WK A AR <9 H M.T.P. & oI STHeiT 9&T o1 o St € | HROT Jawd g4 heh!

gfte HIfT | 1
Our government has intentionally imposed strict conditions for M.T.P. in our country.
Justify giving a reason.

2. e [EI0T % SR U STl STt Torgt i it o gt € 2 1
State the fate of a pair of autosomes during gamete formation.

3. Eifa & ihideh aXT & fagid & ST ER fondt afte Sia st s/ JfHes il & 2 1

What role does an individual organism play as per Darwin’s theory of natural

selection ?
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4, TFEET T SFTERT SGHAT N GHARE B o [T Teh a9 Sl Feld T | 1

Suggest a method to ensure an anamnestic response in humans.

5. S 37O el 1 Bl ¢ 2 1
What is biopiracy ?
Tug - g
SECTION - B
6. TSN U § U IR YU T G HIRTRN Bl €, AT s 318 & & | hael 3IRG
o G HHSATHT AT | 2

A mature embryo-sac in a flowering plant may possess 7-cells, but 8-nuclei. Explain

with the help of a diagram only.

7. AN G H GU BT | 2
CLEI
FefeTEd Sl o faerrE T8 & =al HiTT 2
(@) BER
(b) SR
(c) @i efaferq
(d) B R

Describe the structure of a nucleosome.
OR
Mention the evolutionary significance of the following organisms :
(a) Shrews
(b) Lobefins
(c) Homo habilis

(d) Homo erectus
57/1/1 3 [P.T.O.



8. [ wa # ffefEd Sftal 3R HEeT-TI o agetar & ST wafet i UTar gemiad &t mat
T

(a) TARIIE
(b) i 3iY e e
(c) =®HIE
(d) SfEg =T

TRt ol ®Eel S Taforear w1 gema ST w6 o @al § 3 i HiSET 9o & 8 &
Tk 3T UFER o e & 9 |

In an agricultural field there is a prevalence of the following organisms and crop
diseases which are affecting the crop yield badly :

(a)  White rust

(b) Leaf and stripe rust

(c) Black rot

(d) Jassids

Recommend the varieties of crops the farmers should grow to get rid of the existing

problem and thus improve the crop yield.

9. Tl T § T AT HAh Y 1 FHER A T 3T G Hl USER 68 THR 98k &l
ST ?
How does the application of the fungal genus, Glomus, to the agricultural farm

increase the farm output ?

10. 379 ToTTh o Tohdll aTeiel § S U WX SeTet Tepe SEmt 3ar e |
(a) 8 TEH Thg RN I g3TT & X STt ol TUTerT UX SHeHT SR TTd T2 2
(b) T TR i UhUH &SI T G ST |
Plenty of algal bloom is observed in a pond in your locality.

(a) Write what has caused this bloom and how does it affect the quality of water.

(b)  Suggest a preventive measure.
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SECTION - C

11. (a) 39 SToF-dsh % SR UHaud 3R fgadig Uiiammt gy 59 JF eraenet | g
TSR & S9! gl ST |

(b) T Urel o T q1 Ik WAt (Propagules) 3t gt ST @97 SHHT 909 HifGT | 3

(a) List the three stages the annuals and biennial angiosperms have to pass through

during their life cycle.

(b) List and describe any two vegetative propagules in flowering plants.

12. WS IS ATl Sl STRE! AT FH1e & 5¥d A=Y | 3

Draw a labelled diagrammatic sectional view of a human seminiferous tubule.

13. el Sita & SRE a1 o {oh T ot o] § weh 2197 o AU § | 3 9= H 98
1T )T 7T TAET0T The & b WuTaT & 2 3

During a medical investigation, an infant was found to possess an extra

chromosome 21. Describe the symptoms the child is likely to develop later in the life.

14, Tdl ¥ ge1 % SR 3H® A6 a4 A STol T foh 3¢ Tea off &fed & T | 39
MY T T AT ALY TAT SHBT FU Hf DT TR Feradr ¥ 3¢ 37 REAIRT i
TiT ST H | 3

A number of passengers were severely burnt beyond recognition during a train
accident. Name and describe a modern technique that can help hand over the dead to

their relatives.
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15. p?+2pq+q? =1 TSl aAa & o0 % YR W gH ST GHT 6 S S | 3

p? + 2 pq + g> = 1. Explain this algebraic equation on the basis of Hardy Weinberg’s

principle.

16. (a) SRR MM HF {59 AW F v el & TH AW H AT F1 g A H

TeATe < 2

(b) T M & Felle 1 TeAd &l i, ad AT gRT T AT & Wied g ol oo &
S HROT 3% IR T UIART 9 T & Thal & | ool Uesh oeg 3G i
Heradl | AT HifTT o5 SR Ui o 9 Ui guifer &I 3 7 & | 3

(a)  What precaution(s) would you recommend to a patient requiring repeated blood

transfusion ?

(b) If the advise is not followed by the patient, there is an apprehension that the
patient might contract a disease that would destroy the immune system of his/her
body. Explain with the help of schematic diagram only how the immune system

would get affected and destroyed.

17. (a) 3id:9SHT 3TEEE T e 2

(b) TS & IS % I “GROT” & Hewd i AT T | 3
(a) What is inbreeding depression ?

(b) Explain the importance of ‘“selection” during inbreeding in cattle

5711/1 6



18.

19.

20.

21.

[a¥aY

e FeA-STER H FATHT (3T01eh) AT AhTIT TisT {5 TehR TETIaT X &, UT ity | 3

Describe how do ‘flocs’ and ‘activated sludge’ help in Sewage Treatment.

STa-HrETeh! # FfRad sl st i e Hi :

(a) Wideed TeRgfoemes
(b) Sio-To=RuT T
(c) pBR322 | aRuNcH faeeh 3

Explain the role(s) of the following in Biotechnology :
(a) Restriction endonuclease
(b)  Gel - electrophoresis

(c) Selectable markers in pBR322.

Taet-ST-3eaTs ot UTed et o FoTT fordl ST aret =Rt ot gae T | 3

Write the steps you would suggest to be undertaken to obtain a foreign-gene-product.

Bt SUTE & U4l ¥ WYUI-GI00T i &l SIS -hie a1 AT ST & ? THETH ey i Ter
FA BT E | 3

Why do lepidoplerans die when they feed on Bt cotton plant ? Explain how does it

happen.
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22.

23.

5711/1

T TR0 | FeheTT~ TSIt ol 7Eg et Wehell & | 37 %2 &f gt it |

AT

Sto-fafaedn “gtar’ o fal diF RN o A1H IdET T ST U ST |

‘in-situ’ conservation can help endangered/threatened species. Justify the statement.
OR

Name and describe any three causes of biodiversity losses.

queg -+aq
SECTION -D

YUl R I ST ST YR % S W B a1g Hl STgar g2l qure s ol agd A
fafaa & | 39 ferfd 9 S ge 31Uk 3oTeh bl el FHodmor GeT 3 “IHATEY, STellel A
STTEehdT FHIEsHT T SRS o | Sita-fagm & faemeff = & T S 3 @9 9 o+ &
fow ST feam &

(a) THAM Tl FSTET I TAT A Bl FHEITEd A & 3Th qh i e ohd TR HLT 2
(TS T HROT STT) |

(b) VaTE-TIE, U HRAE F o0 UH-UH, H TEEd ¥, HRAE & IvE e arl
qREEATST 1 e i =T BT |

Public all over India is very much concerned about the deteriorating air quality in large
parts of North India. Alarmed by this situation the Resident’s Welfare Association of
your locality organized an awareness programme entitled “Bury not burn”. They

invited you, being a biology student to participate.

(a) How would you justify your arguments that promote burying and discourage

burning ? (Give two reasons)

(b)  With the help of flow charts, one for each practice depict the chain of events that

follow.



g - T

SECTION - E

24. TAfAfEa we $ afer i A ST T ueET % ST ST
“HEE o HeT H 200 STIeTH SIS gid & |7
(a) Ao dis T e € 2

(b) 3THES F 200 SEHETH SNT 30— HH F AT

(i) TR ST 3T (ii) JTHHT i FeT G fAray |
(c) TSl WY H Sioe™ SIS % ScRd ¥ U WATOT-qe! uReerel i 9 & o
JATE-A1E ST | 1+1+3)=5
YAt

(a) T e 3 Freferiad et S S FE0 ¥ o 3 e |
(b) T FIT TUT 39 §RT GU~ fhT T 1 AT :

hcG, LH, FSH, Relaxin 1+4)=5
Read the following statement and answer the questions that follow :
“A guava fruit has 200 viable seeds.”
(a) What are viable seeds ?
(b)  Write the total number of :

(i) Pollen grains (ii) Gamates

in producing 200 viable guava seeds.

(c) Prepare a flow-chart to depict the post-pollination events leading to viable-seed

production in a flowering plant.

OR
57111 9 [P.T.O.



(a) Arrange the following hormones in sequence of their secretion in a pregnant

woman.

(b) Mention their source and the function they perform :

hcG ; LH ; FSH ; Relaxin

25. UH T ol EEeR T W WA STUSed o HEW” H =dl HiTY q°T SHb! AT

T | 5

(a) Tois T ST ¥ Tt 3T 915 H ITeT-UHIehRoT & I fohT T HeToT & WTehicsh

)07 g1 feorehry o foraR & gfte T R Terelt € 2

(b) 3T UNESAT T AR ST T, Whide RO & AfdRem, i =t (afemEn) gr
AT FERIT el & | @+1)=5

State and explain the “law of independent assortment” in a typical Mendelian dihybrid

CTOSS.
OR

(a) How do the observations made during moth collection in pre- and post-

industrialized era in England support evolution by Natural Selection ?

(b) Explain the phenomenon that is well represented by Darwin’s finches other than

natural selection.
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26. (a) Mg I AT AT AL 2

(b) AHT U % 3MI-TRAS & dF EUH THRT & 1 TR 3T Uedish i ceiforshar
! G TR | 1+4)=5

MY, TAERUNT T WI<AWReE Sl a1 Warsli & AuE URET % fole genferd @
TR Farstt s iRt St F= HT | 5

(a) What is an age-pyramid ?

(b) Name three representative kinds of age-pyramids for human population and list

the characteristics for each one of them.
OR

Discuss the role of healthy ecosystem services as a pre-requisite for a wide range of

economic, environmental and aesthetic goods and services.
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